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Question: 367

When using a cycle of the ADM to establish an Architecture Capability as described in TOGAF Part VII, which
architecture would describe the infrastructure requirements?
A . Application Architecture
B . Business Architecture
C . Data Architecture
D . Technology Architecture
E . Transition Architecture

Answer: D

Question: 368

Which one of the following is an objective of Phase A of the TOGAF ADM?
A . To allocate the resources needed to implement the architecture project
B . To define the framework that is going to be used to develop the enterprise architecture
C . To define an IT Strategy that maps out the technology infrastructure
D . To prepare a Solution Architecture for the enterprise
E . To secure formal approval to proceed

Answer: E

Question: 369

Which of the following architectures in the Architecture Continuum contains the most re-usable architecture elements?
A . Common Systems Architectures
B . Foundation Architectures
C . Industry Architectures
D . Organization-Specific Architectures

Answer: B

Question: 370

Which of the following TOGAF components was created to enable architects to design architectures addressing
Boundaryless Information Flow?
A . The Architecture Repository
B . The Enterprise Continuum
C . The Integrated Information Infrastructure Model
D . The TOGAF Technical Reference Model



Answer: C

Question: 371

Which of the following does the TOGAF document describe as the risk categorization prior to determining and
implementing mitigating actions?
A . The critical level of risk
B . The initial level of risk
C . The intermediate level of risk
D . The mitigated level of risk
E . The residual level of risk

Answer: B

Question: 372

Which of the following best describes the TOGAF Architecture Governance Framework?
A . An approach to ensure the effectiveness of an organization’s architectures
B . An architecture of building blocks and corresponding standards, together with associated graphics
C . An example set of Architecture Principles
D . A reference model that includes information provider applications and brokering applications
E . A model intended to assist with the release management of the TOGAF specification itself

Answer: A

Question: 373

In which phase of the ADM cycle do building blocks become implementation-specific?
A . Phase A
B . Phase B
C . Phase C
D . Phase D
E . Phase E

Answer: E

Question: 374

Complete the sentence. The practice by which the enterprise architecture is managed and controlled at an enterprise
level is known as____________.
A . Architecture governance
B . Corporate governance
C . IT governance
D . Portfolio management
E . Technology governance



Answer: A

Question: 375

Which section of the TOGAF template for Architecture Principles highlights the requirements for carrying out the
principle?
A . Implications
B . Name
C . Rationale
D . Statement

Answer: A

Question: 376

Which of the following describes the TOGAF classification in Phase H for a simplification change?
A . A change driven by a requirement to derive additional value from the existing investment
B . A change driven by a requirement to increase investment in order to create new value for exploitation
C . A change driven by a requirement to reduce investment
D . A change driven by a requirement to re-align with the business strategy
E . A change driven by a requirement to simplify communication between stakeholders

Answer: C

Question: 377

Which of the following best describes the class of information known as the Reference Library within the Architecture
Repository?
A . A description of the organization specific architecture framework and method
B . A record of the governance activity across the enterprise
C . Guidelines and templates used to create new architectures
D . Processes to support governance of the Architecture Repository
E . Specifications to which architectures must conform

Answer: C

Question: 378

TOGAF uses a version numbering convention to illustrate the evolution of the Baseline and Target Architecture
Definitions.

Which version number in this convention indicates a high-level outline of the architecture?
A . Version 1.0
B . Version 0.9
C . Version 0.5
D . Version 1.5
E . Version 0.1



Answer: E

Question: 379

Which section of the TOGAF template for Architecture Principles should highlight the business benefits for adhering
to the principle?
A . Implications
B . Name
C . Rationale
D . Statement

Answer: C




